LS~ Kurssbule Serbe 21
br 7.)u) F'C0)=1sin (x) + (X +2) cos(x)
F(x) = (@1)- ”5‘7'h(>(_)

thxg.at, —

F(x)= Tx - $in (0,5x)

Vr-8)6) tey)- 3x-(0,Sx +4) = 3x (Ix"+4x +4)

F(x)= _2 x> +3xT 4%

0 hnt 'Prao/uhlrejc( PCX) = -2-)(1-1- Ex +73

mit ProJuUreJcl' Fiix)= 3. (05'>(+4)1+3X-2'{ﬂ,f)<+4)-0,f
F ()()’ (9X +1X+4)+3X (0,5‘?(4.4) |

P (x) = ?x #3x 43+ 2atiqy. Ix +ex +3

b) Flx)= (5-X%)(3+x)= 15 +5x=3% -xc x4 2y 145
Ohne Produhtresel
Piix)=-2x +2
mrt proo/u/‘!rcﬁe(

FA()(): ~1(34x)+ (5-x)1==-3 -%+5-X=-2x42
¢) h(x)=C1-x)-¥5" = ¥ i Sl

0 hne ProcluA/'b:’tJ’(-
POV =4 v % Bed A 3Vy fx M- X
T 7 ’

T

mrk Produhtresel ; E
, 1 L L N
Prix)= =4 -¥x +(1=X) vy 4{;+2ﬁ z ™

F'(X):—/pﬁ‘iﬁ+,ﬂ_+~ﬂ"--/}"'= -1x +1-x
1- V¥ L - 29 2 VX

F'(x);

0. Fell



LS- Hursstule Serte 271

v 8) d) 1
TR PRl S L F e

ohne Produbtregel p
F'ix) = i(><"—><3) T (1x-3%x)

P [ Lac w8y lase ca5® | (o0
2Ax*x*  LV%-% L 4-x]

Ftx)= ’é ;L'
mi b Produ/‘frc?cl
F(Y—41[4_:—1+>( (1)
HT—?
Fiyy = JMx' - X _ A1-x -271x x

’“’—7 2AT=x 247>

R e S b A e 225 -x ' 2=-9x

29 4-x 79 1

|

g Fell



